Geometry A FALL 2018 Name ,fm \(U)\
FINAL EXAM REVIEW DAY 2 December 'j

Identify each pair of angles as corresponding, alternate interior, alternate exterior, consecutive
interior, or vertical.
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3 Find x it msCDE =111°,
msZBDE =9x — 0,
and m2CDB = 10x + 3.




Find the value of x.
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State all possible names for cach figure.
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State if the two triangles are congruent. If they are, state how you know.
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Solve for x. Each figure is a parallelogram.
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Order the sides of each triangle from shortest to longest.
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Determine whether the triangles are similar. If so, by what simlarity postulate?
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For #24: Find the trig ratio. For #25-#28, solve for the missing side or missing angle.
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Find the measure of the arc or angle indicated. Assume that lines which appear to ¥
diameters are actual diameters. <
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